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P =510510n + 212887

2P + 1 =2(510510n + 212887) + 1 = 1021020n + 425774 + 1 = 1021020n + 425775

0000010210200 20 2003,5,7,11,13,17000000 10000000

425775 =3 x b x b xT7Tx81l1x1

oooo
2P + 1 = 105(9724n + 4055)

oboobobgoolesobooooooobooboboboooobooobOobUobUoboDoboOoooo
good

Q=2128030000
P =510510n + 212893

2P 4+ 1 =2(510510n + 212893) + 1 = 10210201 + 425786 + 1 = 1021020n + 425787

0000010210200 20 2003,5,7,11,13,17000000 10000000

425787 =3 x 71 x 1999 x 1

oooo
2P + 1 = 3(340340n + 141929)

oooooooob3sooooooboobooooooobooooooobooOobOobDooooobbBbOoOn
ooo

Q=2128070000
P = 510510n + 212897

2P 4+ 1 =2(510510n + 212897) + 1 = 1021020n + 425794 + 1 = 1021020n + 425795

158



0000010210200 20 2003,5,7,11,13,17000000 10000000

425795 =5 x 85159 x 1

ooono
2P + 1 = 5(204204n + 85159)

ooooooooboso0ooooboboooooooboboooooooDooOobOobDooooobObOBbOoOn
ooo

Q=12128090000
P = 510510n + 212899

2P 4+ 1 = 2(510510n + 212899) + 1 = 10210201 + 425798 + 1 = 1021020n + 425799
0000010210200 20 2003,5,7,11,13,17000000 10000000

425799 =3 x 3 x 11 x 11 x 17 x 23 x 1

oooo
2P + 1 = 561(1820n + 759)

o0obOobgooselobbooooobooboboboboobooobobobobDooDoooo
goog

Q=12129030000
P = 510510n + 212903

2P + 1 = 2(510510n + 212903) + 1 = 10210201 + 425806 + 1 = 10210201 + 425807
0000010210200 20 2003,5,7,11,13,17000000 1000000
425807 = 29 x 14683 x 1
0000 10210200000000000000
2P + 1 = 510510m + 425807
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2P + 1 = 2(510510n + 214061) 4+ 1 = 10210201 + 428122 + 1 = 10210201 + 428123
0000010210200 20 2003,5,7,11,13,17000000 1000000

428123 =47 x 9109 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 428123

goboobooobooboboobboobboobooobooo

Q=214063 0000
P =510510n + 214063
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2P 4+ 1 =2(510510n + 215401) + 1 = 1021020n + 430802 + 1 = 10210201 + 430803

0000010210200 20 2003,5,7,11,13,17000000 10000000

430803 =3 x 3 x 151 x 317 x 1
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2P + 1 = 3(340340n + 143601)
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goo

Q=2154170000
P =510510n + 215417

2P + 1 = 2(510510n + 215417) + 1 = 1021020n + 430834 + 1 = 1021020n + 430835
0000010210200 20 2003,5,7,11,13,17000000 10000000

430835 =5 x 199 x 433 x 1

oooo
2P + 1 = 5(204204n + 86167)

o00obOoboO0o0os000b000000ObO0ODODO0OObO0ODbDODObDObOOODbDObDODbDOn
goo

Q=12154190000
P = 5105100 + 215419

2P + 1 = 2(510510n + 215419) 4+ 1 = 10210201 + 430838 + 1 = 10210201 + 430839
0000010210200 20 2003,5,7,11,13,17000000 10000000

430839 =3 x 3 x3x3x3Ix3Ix3Ix197x1

oooo
2P + 1 = 3(340340n + 143613)
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Q=2154290000
P =510510n + 215429

2P 4+ 1 =2(510510n + 215429) + 1 = 10210201 + 430858 + 1 = 10210201 + 430859

oo000010210200 20 2003,5,7,11,13,17000000 10000000

430859 =11 x 13 x 23 x 131 x 1

oooo
2P + 1 = 143(7140n + 3013)
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Q=2154310000
P = 510510n + 215431

2P + 1 =2(510510n + 215431) + 1 = 10210201 + 430862 + 1 = 10210201 + 430863

0000010210200 20 2003,5,7,11,13,17000000 10000000

430863 = 3 x 19 x 7559 x 1

oooo
2P + 1 = 3(340340n + 143621)
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Q=2154370000
P =510510n + 215437

2P 4+ 1 =2(510510n + 215437) + 1 = 1021020n + 430874 + 1 = 1021020n + 430875

0000010210200 20 2003,5,7,11,13,17000000 10000000

430875 =3 x3xHxHxbhx383x1

oooOo
2P + 1 = 15(68068n + 28725)
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good

Q=12154430000
P = 5105100 + 215443

2P + 1 =2(510510n + 215443) + 1 = 10210201 + 430886 + 1 = 1021020n + 430887

0000010210200 20 2003,5,7,11,13,17000000 10000000

430887 = 3 x 143629 x 1

oooo
2P + 1 = 3(340340n + 143629)

gooooooOo3o0boooooobooU0OoOoU0bOoUbDOoUobOoUobbOUDbDOoUobDboUODoOoO
oono

Q =12154470000
P = 510510n + 215447

2P 4+ 1 =2(510510n + 215447) + 1 = 10210201 + 430894 + 1 = 10210201 + 430895
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430895 =5 x 86179 x 1
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2P + 1 = 5(204204n + 86179)
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Q=2154590000
P =510510n + 215459

2P 4+ 1 = 2(510510n + 215459) 4+ 1 = 10210201 4 430918 + 1 = 1021020n + 430919
0000010210200 20 2003,5,7,11,13,17000000 1000000

430919 = 73 x 5903 x 1

o000 102102000 000000000000

2P 4+ 1 =510510m + 430919
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Q=2154610000
P =510510n + 215461

2P + 1 = 2(510510n + 215461) 4+ 1 = 10210201 + 430922 + 1 = 10210201 + 430923
0000010210200 20 2003,5,7,11,13,17000000 10000000

430923 = 3 x 379 x 379 x 1

oooo
2P + 1 = 3(340340n + 143641)
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ooo

Q=2154710000
P =510510n + 215471

2P + 1 =2(510510n + 215471) + 1 = 1021020n + 430942 + 1 = 1021020n + 430943

0000010210200 20 2003,5,7,11,13,17000000 1000000

430943 = 47 x 53 x 173 x 1

OO000 10210200 000000000000

2P 4+ 1 = 510510m + 430943
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Q=2154730000
P = 5105100 + 215473

2P 4+ 1 =2(510510n + 215473) + 1 = 10210201 + 430946 + 1 = 1021020n + 430947

0000010210200 20 2003,5,7,11,13,17000000 10000000

430947 =3 x3x3x 11 x 1451 x 1

oooo
2P + 1 = 33(30940n + 13059)

goooooboOo3oobooooobobooooobooooDoobooDOobDOoboooboOooboo
good

Q=2154770000O
P = 5105100 + 215477

2P + 1 =2(510510n + 215477) + 1 = 10210201 + 430954 + 1 = 10210201 + 430955

0000010210200 20 2003,5,7,11,13,17000000 10000000

430955 =5 x 7T x 7T x 1759 x 1

oooo
2P + 1 = 35(29172n + 12313)
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Q=215483 0000
P =510510n + 215483

2P 4+ 1 =2(510510n + 215483) + 1 = 10210201 + 430966 + 1 = 10210201 + 430967

0000010210200 20 2003,5,7,11,13,17000000 10000000

430967 = 17 x 101 x 251 x 1

oooo
2P + 1 = 17(60060n + 25351)

oooooooolyoooooooooobooooobooooOoboOoooOObOOooobObOOooDObOn
oooo

Q=215480 0000
P = 510510n + 215489

2P 4+ 1 =2(510510n + 215489) + 1 = 10210201 + 430978 + 1 = 10210201 + 430979
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430979 = 430979 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 430979
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Q=2154910000
P = 510510n + 215491

2P + 1 = 2(510510n + 215491) 4+ 1 = 10210201 + 430982 + 1 = 10210201 + 430983
0000010210200 20 2003,5,7,11,13,17000000 10000000

430983 =3 x 3 X 7 x 6841 x 1

oooOo
2P + 1 = 21(48620n + 20523)

oboobooobo21000oo0bo0ob00ooboboooboo0bo0obooboboooobOoobOoo
good

Q=215497 0000
P = 510510n + 215497

2P + 1 = 2(510510n + 215497) 4+ 1 = 10210201 4 430994 + 1 = 10210200 + 430995
0000010210200 20 2003,5,7,11,13,17000000 10000000

430995 =3 x5 x 59 x 487 x 1

oooo
2P + 1 = 15(68068n + 28733)

ooooooboOobooboooooboboooooooooDoobDOooDOobDOoboobOooboo
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Q=2155030000
P = 510510n + 215503

2P + 1 =2(510510n + 215503) + 1 = 1021020n + 431006 + 1 = 1021020n + 431007

0000010210200 20 2003,5,7,11,13,17000000 10000000

431007 = 3 x 143669 x 1

oooo
2P + 1 = 3(340340n + 143669)
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Q=2155070000
P = 510510n + 215507

2P + 1 = 2(510510n + 215507) 4+ 1 = 10210201 4 431014 + 1 = 10210200 + 431015
0000010210200 20 2003,5,7,11,13,17000000 10000000

431015 =5 x 13 x19x 349 x 1

oooo
2P + 1 = 65(15708n + 6631)
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Q=2155130000
P = 510510n + 215513

2P 4+ 1 = 2(510510n + 215513) + 1 = 10210200 + 431026 + 1 = 10210200 + 431027
0000010210200 20 2003,5,7,11,13,17000000 1000000

431027 =29 x 89 x 167 x 1

Ooooo 10210200 000000000000

2P 4+ 1 =510510m + 431027
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Q=2155190000
P = 510510n + 215519

2P 4+ 1 =2(510510n + 215519) + 1 = 10210201 + 431038 + 1 = 10210201 + 431039

0000010210200 20 2003,5,7,11,13,17000000 10000000

431039 =7 x 139 x 443 x 1

oooo
2P + 1 = 7(145860n + 61577)
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Q=2155210000
P = 510510n + 215521

2P 4+ 1 =2(510510n + 215521) + 1 = 1021020n + 431042 + 1 = 1021020n + 431043
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431043 = 3 x 23 x 6247 x 1

good
2P + 1 = 3(340340n + 143681)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=2155310000
P = 510510n + 215531

2P + 1 = 2(510510n + 215531) 4+ 1 = 10210201 + 431062 + 1 = 10210201 + 431063
0000010210200 20 2003,5,7,11,13,17000000 1000000

431063 = 431063 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 431063
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Q=2155330000
P = 5105100 + 215533

2P + 1 = 2(510510n + 215533) 4+ 1 = 10210201 4 431066 + 1 = 10210201 + 431067
0000010210200 20 2003,5,7,11,13,17000000 10000000

431067 =3 x 7 x 13 x 1579 x 1
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2P + 1 = 273(3740n + 1579)

oooooooo2r300oboooo0oo0ooDooooooooobbo0ooo0ooDooDoO
good

Q=2155390000
P = 510510n + 215539

2P 4+ 1 =2(510510n + 215539) + 1 = 10210201 + 431078 + 1 = 10210201 + 431079

0000010210200 20 2003,5,7,11,13,17000000 10000000

431079 = 3 x 11 x 13063 x 1

oooo
2P + 1 = 33(30940n + 13063)
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Q=215549 0000
P =510510n + 215549

2P + 1 = 2(510510n + 215549) + 1 = 10210201 + 431098 + 1 = 10210201 + 431099
0000010210200 20 2003,5,7,11,13,17000000 1000000

431099 = 431099 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 431099

gooboobooobooboboobboobboobuooobooo

Q=2155570000
P = 510510n + 215557

2P + 1 = 2(510510n + 215557) 4+ 1 = 10210201 4 431114 + 1 = 10210200 + 431115
0000010210200 20 2003,5,7,11,13,17000000 10000000

431115 =3 x 5 x 41 x 701 x 1

oooo
2P 4 1 = 15(68068n + 28741)

ooooooooliboooobooooooboooboobooboobooooobOooboo
good

Q=215561 0000
P =510510n + 215561

2P 4+ 1 =2(510510n + 215561) + 1 = 1021020n + 431122 + 1 = 10210201 + 431123

0000010210200 20 2003,5,7,11,13,17000000 10000000

431123 =7 x 11 x 11 x 509 x 1

oooo
2P +1 = T77(13260n + 5599)
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oooo
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